1. For the following, determine whether or not each table is a function.  Explain why or why not.
	Input
	Output

	-1
	3

	3
	7

	-1
	11

	-3
	15


A. 




B. 

	Input
	Output

	5
	10

	7
	15

	9
	20

	11
	25


	Input
	Output

	-9
	-45

	-8
	-40

	-7
	-35

	-2
	-10


C. 
D. 
	Input
	Output

	-7
	21

	-8
	24

	-9
	27

	-6
	18


2. For each ordered pair, determine whether or not the order pairs represent functions.  Explain why or why not.

A.[(-3,-7), (-1,-3), (0,-1), (2,-3), (4,7)]

B. [(-5,-4), (-4,2), (0,2), (1,3), (2,4)]

C.{(-4,-3), (-2,-2), (0,-1), (1, -1.5)}

D. [(0,0), (1,1), (4,2), (1,-1)}

3. Using the data from the table, graph the coordinates and determine whether or not the coordinates plotted represent a function.  Explain why or why not.  

	Input
	Output

	5
	0

	10
	5

	15
	10

	20
	15

	Input
	Output

	0
	3

	2
	5

	4
	7

	6
	9


A. 

B.






D. 
	Input
	Output

	-2
	-3

	-3
	0

	-2
	3

	0
	4

	2
	3

	3
	0

	2
	-3

	0
	-4

	Input
	Output

	-4
	-2

	-2
	-1

	6
	3

	8
	4


C. 
D. 

E. 
	Input 
	Output

	-3
	4

	-2
	2

	-1
	0

	1
	1

	2
	2

	3
	4


